1. There were 2 birds in a tree. 6
more birds flew in to join them.
How many birds are in the tree

now?

birds end

?

2

birds start

flew in

2. There were 2 birds in a tree.
Some more flew in to join them.
Now there are 8. How many birds

flew in?

birds end

3

2

birds start

flew in

3. There were some birds in a tree.
6 more flew in to join them. Now
there are 8 birds in the tree. How

many were there at the start?

birds end

8

?

birds start

flew in




4. There were 8 birds in a tree. 6
flew away. How many birds are left
in the tree?

birds start

?

6

birds end

flew away

5. There were 8 birds in a tree.
Some flew away. Now there are 2
birds in the tree. How many flew

away?

birds start

8

2

?

birds end

flew away

6. There were some birds in a tree.
6 flew away. There are 2 trees in
the tree now. How many were in
the tree at the start?

birds start

?

2

6

birds end

Flew away




7. There were 2 bluebirds and 6 birds in all
chickadees in a tree. How many ?
birds were in the tree? ) 6
bluebirds chickadees
8. There were 2 bluebirds in a tree gl
and the rest were chickadees. If 3
there were 8 birds in all, how many
2
chickadees were there? 2 '
bluebirds chickadees
9. There are some bluebirds and .
chickadees in a tree. What are all 8
the possible combinations of birds
. . . . ?
in the tree if there were 8 birds in ' ?

all?

bluebirds

chickadees




10. There were 2 bluebirds and 8
chickadees in a tree. How many

more chickadees were there than
bluebirds?

chickadees

3

2

?

bluebirds

difference

11. There were 2 bluebirdsin a
tree. If there were 6 more chicka-
dees than bluebirds, how many
chickadees were there?

chickadees

?

2

6

bluebirds

difference

12. There were 8 chickadees in a
tree. If there were 6 fewer blue-
birds than chickadees, how many

bluebirds were there?

chickadees

8

?

6

bluebirds

difference




2+6="7 6+2="
?7=2+6 | ?=6+2
8=7?+6 8=2+7




?7+6=8 | 2+?7=8
?7+2=8 | 6+7?7=8
8-6=7 8-2=7




?=8-6 ?=8-2
8+6=? | 6+8="
8+2="7" 2+8=7"




